| Efficiency vs Dxy |
> 0.2
1% : : : : : :
© | N N N N N N
L e | s e T O Fet
< : A B
§0.16_— ------ R RIS (. o oo N R
Q L : :

S 0.14f - LR i —

©
0.12

o
=

ol

- Il : l
0.06 -4+ il .

LT SR Iw| i

— it

9

c O

&5 N
-

S O

||“ MMH““N L
£ AN AR
ot L

—20 -15 -10 -5 10 15 20
TP dxy (cm)

—=— DQM_origimal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

0.2 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N . ; T T T
> : : :

2018__ """"" [ T [ pTTTTTTImrreeees )
> r : : : : :
c e FEEEEEEEEEE Seemneeeees Sreeeeeeeees LRI EEEEEEEE -
Q 0.16¢ : : : : :
() - : : : : :
E0.14 o Frrereree frorereeeee A )
(0] : : : : :

042

1T TN S e —
0B

(TSNS | RS S 1
oot -t
0.02+

10
120

+ #t' "**# ;

Ratio

1.0

10 20 30
TP dz (cm)




	Contents
	Page 1


